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[bookmark: _Toc495578297][bookmark: _GoBack]Figure S1. P-values for all loci by sampling site combinations for (A) Painted turtles, and (B) Spotted turtles. Pink boxes indicate instances in which loci were found to significantly deviate from Hardy-Weinberg Equilibrium using an exact test based on 10,000 Monte Carlo permutations. White boxes indicate no information available due to too few alleles to calculate. Bonferroni corrections applied to data from both painted turtles (α = 0.05/396 =  0.00012) and spotted turtles (α = 0.05/170 =  0.00029).
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[bookmark: _Toc495578298]Figure S2. ΔK and ln Pr(X|K) STRUCTURE Harvester results for A) Painted turtles with all individuals from all sites; B) Painted turtles with maximum 25 individuals per site; C) Spotted turtles with all individuals from all sites; and D) Spotted turtles from sites > 9 individuals and with site 29 limited to 30 individuals.

image7.jpg
Mean of est. Ln prob of data

—7000

—7500

—8000

—8500

—9000

—9500

L(K) (mean +- SD)

A0

10

12




image8.jpg
1.0

0.8

Delta K

0.4

0.2

0.0

DeltaK = mean(|L"(K)]|) / sd(L(K))

2.0

2.2

2.4

2.6

2.8

3.0




image9.jpg
Mean of est. Ln prob of data

-5100

—5150

—5200

—5250

—5300

—5350

1.0

1.5

L(K) (mean +- SD)

2.0

25

3.0

3.5

4.0




image1.jpeg
locus

Cp2

Cp10
GmuB21
GmuA19
GmuD90
GmuA32
GmuD70
GmuD55
GmuD93
GmuD121
GmuB12
GmuB08
GmuB67
GmuD114
GmuD79
GmuD21
GmuA18
GmuD87

| ] - | Ll __J__l L _J__Jl .l ] 1L ]|

t

| L, R T T i e I i e s
01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22

site

locus

GmuD70
GmuA19
GmuD28
GmuA32
GmuB21
GmuD114
GmuD79
GmuB08
GmuD16
GmuD121
GmuD55
GmuD88
GmuD90
GmuD40
GmuD21
GmuA18
GmuD87

r1.0

ros

0.6

ro4

Te—Tyoaal—— Tl

23 24 25 26 27 28 29 30 31

site

T

T

T

32 3

02

0.0




image2.jpg
Delta K

DeltaK = mean(|L"(K)]|) / sd(L(K))





image3.jpg
Mean of est. Ln prob of data

—23800

—24000

—24200

—24400

—24600

—24800

—25000

L(K) (mean +- SD)

10




image4.jpg
1.5

1.0

Delta K

0.5

0.0

DeltaK = mean(|L"(K)]|) / sd(L(K))





image5.jpg
—-18700

—18800

—18900

Ln prob of data

—19000

—-19100

Mean of est

—19200

—19300

L(K) (mean +- SD)

10




image6.jpg
Delta K

10

DeltaK = mean(|L"(K)]|) / sd(L(K))





